HSC 2002 - Chemistry
Band 5/6 - Sample 3

Marks
Question 17 (3 marks)
Explain why alkanes and their corresponding alkenes have similar physical properties, 3
but very different chemical properties.
: _ =3 [='= g
dx{%mgmmPfth%d%‘mmd\%ﬂm'f\mr\d\ﬁcjw
aroms. Alkomes have single. ends. aing, NEnce. compng.. conh.arhea....

SJosShruRon
M. (£:5: PIomMINg.). by citrirmee

c:orﬁd\(\'\rg @aég'duubfe bornd=s WCC‘:“C'—) . Herce -’H"\A:?_tj ok K2
e with Grhoy atoms ard rrolecules P9 ddiom ot ons, uhosre

_‘_ .
z double med s Orixem %m.fgs,raye orcds, Heros thoe: alkores
a F 1 - .
!' corre.gp_)rdws AENES have sin ) aar P"\\gg‘&" Properhes
:j ch er=nt d\iz,rhlcq\ e ’PE)’{_H&

~10-



	subject: HSC 2002 - Chemistry
	Band 5/6: Band 5/6
	sample:  -  Sample 3


